Hi all.

It’s all probably doing your heads in at the moment.
Well, there are about 70 questions here, I’d be betting for about 10 free marks minimum.

If you haven’t done all the MCQs once, start making that your absolute priority. Do the ones you get wrong five times. There is no reason not to know all the MCQs.
You’ll be fine.

Ben.

Anatomy
1. Concerning lymphatic drainage of the viscera:

a. The pectinate line is a watershed

b. All the abdominal skin drains to the inguinal nodes

c. The rectum drains to the para-aortic nodes

2. Considering a complete spinal transection:

a. C1-C3 – quadriplegia and no respiration

b. T10-L1 – loss of thigh movements

c. L2-L3 – loss of most of the leg movements

d. A clearly wrong option

e. Yes, this question was as ambiguous as you’re thinking

3. Blood supply of the head of the femur

4. Right coronary artery:

a. Usually gives a posterior interventricular branch

b. x% AV nodes

c. y% SA nodes

d. arises from posterior sinus

e. wrong course

5. AC joint

a. Synovial

b. Moved by subclavius

c. Coracoclavicular ligament is not important in stability

d. AC ligament is important in stability

6. The breast

a. Is a modified sebaceous gland

b. Is supplied by the lateral thoracic artery and IMA

c. Overlies pec minor and part of lat dorsi

d. Drains predominately to subclavian nodes
7. The tibia

a. Has one subcutaneous border

b. Has medial and lateral condyles at the proximal end

c. The weight bearing surfaces are medial malleolus and talar shelf

d. The proximal fibula articulates with the shaft

e. Has the intercondylar eminence on the anterior surface

8. What is a branch of the femoral artery?

a. Sup. circumflex artery

b. Deep perforating artery

c. Deep circumflex artery

d. Pudendal artery

9. What passes through the lessor sciatic foramen?

a. Piriformis

b. Sup gemelli

c. Obturator internus

d. Sup Gluteal

e. Pudendal a./n. were NOT options

10. The radial artery

a. Largest branch of brachial a.

b. Goes between APL and EPB

c. Lateral to rad n.

11. In the eye:

a. The extraocular muscles attach to the tendinous ring

b. SO attaches to the ethmoid

c. Lacrimal gland occupies fossa on medial sides

12. Skull

a. Ant. fontanelle palpable at 3 years

b. Ant. fontanelle “longest”

c. Ant. fontanelle persists in 8%

13. Ant. fontanelle:

a. 2 parietal, 2 occipital

b. lots of combinations

14. Joints

a. Planed joints are gliding or sliding

b. Pivot joints are multiaxial

c. Hinge joints are uniaxial

15. Appendix

a. Drains to inguinal nodes

b. The tip is in constant relation to McBurney’s point

c. Enters the anterior wall of the caecum

d. Usually retrocaecal in health

Anatomy

16. Concerning lymphatic drainage of the viscera:

a. The pectinate line is a watershed


- yes, rectum
b. All the abdominal skin drains to the inguinal nodes
-only below umbilicis

c. The rectum drains to the para-aortic nodes

-no upper canal int iliac; lower to superficial inguinal group

17. Considering a complete spinal transection:

a. C1-C3 – quadriplegia and no respiration

-all of these a, b, c
b. T10-L1 – loss of thigh movements

c. L2-L3 – loss of most of the leg movements

d. A clearly wrong option

e. Yes, this question was as ambiguous as you’re thinking

18. Blood supply of the head of the femur

Upper anastamosis – trochanteric (gter trochanter): sup gluteal, inf gluteal med+lat circumflex femoral

Lower anastamosis – cruciate (lesser trochanter): inf gluteal, med+lat circumflex femoral, asc brach 1st perforating artery

19. Right coronary artery:

a. Usually gives a posterior interventricular branch

b. x% AV nodes

80%AV

c. y% SA nodes

60%SA

d. arises from posterior sinus
R aortic sinus

e. wrong course

20. AC joint

a. Synovial

(atypical, artic surfaces covered by fibrocartilage)

b. Moved by subclavius




- NOT

c. Coracoclavicular ligament is not important in stability

- IS impt

d. AC ligament is important in stability



- is a minor stabilising factor

21. The breast

a. Is a modified sebaceous gland



- NO

b. Is supplied by the lateral thoracic artery and IMA

c. Overlies pec minor and part of lat dorsi


- Pec Major, Ser Ant

d. Drains predominately to subclavian nodes

22. The tibia

a. Has one subcutaneous border



- YES
b. Has medial and lateral condyles at the proximal end

- YES

c. The weight bearing surfaces are medial malleolus and talar shelf

d. The proximal fibula articulates with the shaft


- NO, lat condyl

e. Has the intercondylar eminence on the anterior surface
- NO, middle to post superior surface

23. What is a branch of the femoral artery?

a. Sup. circumflex artery




-YES
b. Deep perforating artery






c. Deep circumflex artery




- no

d. Pudendal artery





- superf & deep ext pudendal from femoral; internal pudental is from internal iliac

24. What passes through the lessor sciatic foramen?

a. Piriformis




- no, greater

b. Sup gemelli






c. Obturator internus



- yes, tendon of obturator internus

d. Sup Gluteal




- sup gluteal vessels & nerve thr gter

e. Pudendal a./n. were NOT options

25. The radial artery

a. Largest branch of brachial a.

- no Ulnar largest

b. Goes between APL and EPB

- no between EPL & (APL/EPB)

c. Lateral to rad n.



- no, medial

26. In the eye:

a. The extraocular muscles attach to the tendinous ring
- 5 do, inf oblique inserts into the maxillary bone

b. SO attaches to the ethmoid



- no, SO - body sphenoid

c. Lacrimal gland occupies fossa on medial sides
- no, superior-lateral

27. Skull

a. Ant. fontanelle palpable at 3 years

- closes at 2 yrs

b. Ant. fontanelle “longest”


- ? largest

c. Ant. fontanelle persists in 8%

- ?NO

28. Ant. fontanelle:

a. 2 parietal, 2 occipital


- no, 2 parietal, 2 frontal

b. lots of combinations

29. Joints

a. Planed joints are gliding or sliding 

b. Pivot joints are multiaxial

c. Hinge joints are uniaxial
30. Appendix

a. Drains to inguinal nodes

- lymph nodes assoc with ilio colic arteries
b. The tip is in constant relation to McBurney’s point
- no base is

c. Enters the anterior wall of the caecum

- no, posterior medial wall

d. Usually retrocaecal in health

- no retroilial in health, retrocaecal/retrocolic in diseeeease

